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QUESTION 1

Six Sigma quality levels can occur even with a mean shift equal to 1.5 times the standard deviation. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

The grand average of the subgroup averages is known as: 

A. X-bar bar 

B. X-double bar 

C. The grand average 

D. All of the above 

Correct Answer: D 

 

QUESTION 3

Competitive evaluation is done after the House of Quality is completed. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

A Six Sigma level is calculated by which of the following equations: 

A. (Opportunities - Defects)/Opportunities x 100 

B. (Opportunities + Defects)/Opportunities x 100 

C. (Defects - Opportunities)/Defects x 100 

D. (Defects + Opportunities)/Defects x 100 

Correct Answer: A 
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QUESTION 5

What is Ppk in six sigma belt? 

A. It is a measuring process to measuring the average speed of production. 

B. It is a diagram displaying the sequential steps of an production. 

C. It\\'s term is used for measuring the data of employee performances of a company during a year. 

D. This is the index of the performance of a process. 

Correct Answer: D 
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